1T AIEHH

Y2 4FE9 BhICHEE LE=MRERE. 1,
LOEEFEZBATREINEZDIDOEFT 1H#HTY, BEEITRIZOVTIE. REINT

WEH A,

T2 4459 BOAEBEOEE

2 MHAMEY U LAOEEEIZONT (B :Bqg kg)

390#TY, TDS56, WHMELEI Y

Bt —fRE HEAER 45 /EEYIN
£HHEE 100 50 50 10
3 HEHHNZNEATORBEEEFEZEALT 1# (8&E) 2T

ACHEHNZWEMT ORBOEHEEEEZBEALT 14 (8REB) OEFHOVTSH

Moe LES,
I AlEHE#HOLNEMNT OREB
& B T—4 £5
BREH 107
S EEEMBEBAH 0
*EH) XKE (> LAEH) Ba/ke 26.9
&/ME (Y9 LEE5T) Ba/ke & BB AE R
BREH 97
S S EEEMBEBAH 0
XKE (> LAEH) Ba/ke 88.5
&/ME (Y9 LEE5T) Ba/ke & R AE R
BREH 93
PR S EEEMBEBAH 0
XKE (> LAEH) Ba/ke 45.3
&/ME (Y9 LEE5T) Ba/ke &t BR AE R
BREH 89
. SEEEMBEBAH 0
YA E —
XKE (> LAEH) Ba/ke 25.6
&/ME (Y9 LEE5T) Ba/ke &t BR AE R
BREH 72
R S EEEMBEBAH 1
XKE (> LAEH) Ba/ke 114.2
&/ME (Y9 LEE5T) Ba/ke &t BR AE R




BREH 70

S EEEMBEBAH 0

0 XKE (> LAEH) Ba/ke 12.4
&/ME (Y9 LEE5T) Ba/ke & BB AE R

BREH 58

- S EEEMBEBAH 3
XKE (> LAEH) Ba/ke 1545

&/ME (Y9 LEE5T) Ba/ke & R AE R

BREH 50

4z S EEEMBEBAH 0
EAME (£Y 9 LEE5T) Ba/ke &t BR AE R

&/ME (Y9 LEE5T) Ba/ke & BB AE R

BREH 40

Sy — S EEEMBEBAH 2
XKE (> LAEH) Ba/ke 1224

&/ME (Y9 LEE5T) Ba/ke & BB AE R

BREH 34

e SEEEMBEBAH 0
XKE (> LAEH) Ba/ke 47.2

&/ME (Y9 LEE5T) Ba/ke & BB AE R

[ EEEZEBAT1H )
& B T—4 £5

BREH 58

- DBLEEMBEEBADH 3
XKE (> LAEH) Ba/ke 1545

&/ME (Y9 LEE5T) Ba/ke & BB AE R

BREH 40

Sy — DBLEEMBEEBADH 2
XKE (> LAEH) Ba/ke 1224

&/ME (Y9 LEE5T) Ba/ke & BB AE R

BREH 33

S DHLEEMBEEBADH 1
= AME (27 LE&5T) Ba/kg 315.0

&/ME (Y9 LEE5T) Ba/ke &t BR AE R




REH

DHLEEMBEBEADH

HA .
xKAfE (€27 LEET) Ba/ke 196.3
x/ME (227 LEET) Ba/ke 196.3
REM 1
i 5 BRMEEBA B U 1
xKAfE (€27 LEE) Ba/ke 130.4
x/ME (227 LEET) Ba/ke 130.4
REM 7
s (B > bEEEERA DY 1
xKAfE (€27 LEET) Ba/ke 301.5
BAME (£Y AR Buke | RUBRERS
REH 712
T 5 BRMEERA B U 1
xAfE (€27 LEET) Ba/ke 114.2
BAME (£Y AR Buke | RUBRERS
REM 1
- > HEEEERA DY 1
xAfE (€27 LEET) Ba/ke 605.0
x/ME (227 LEET) Ba/ke 605.0




